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ff % YZ7KREM CEE/F
g (IS Z % A S
Hr ticd 4 4 #a v (an HE 1% g #a E
(ZN o = 0 s (N 3 Bk
L X W (LS A U " ES " K H
A = JZ 20 = R 70 7 ES
% z % 7 S S £
(&%) (20°C)
m® | A</ mm mm mm mm mm | kg, km m Q,km | MQkm \Y%
2 X 1.25|7,0.45| 1.35 0.8 1.5 8.9 70 300 16.8 2500 2000
2 X 7,/0.6 1.8 0.8 1.5 9.8 95 300 9.42 2500 2000
2 X 3.517,0.8 2.4 0.8 1.5 11.0 130 300 5.30 2500 2000
2 X 55 |7/1.0 3.0 1.0 1.5 13.5 210 300 3. 40 2500 2000
3 X 1.25|7,0.45( 1.35 0.8 1.5 9.4 90 300 16. 8 2500 2000
3 X 2 7,/0.6 1.8 0.8 1.5 10.5 120 300 9.42 2500 2000
3 X 3.517/0.8 2.4 0.8 1.5 12.0 170 300 5. 30 2500 2000
3 X 55 17/1.0 3.0 1.0 1.5 14.0 270 300 3. 40 2500 2000
4 X 1.25|7,0.45] 1.35 0.8 1.5 10.5 110 300 16. 8 2500 2000
4 X 2 7,/0.6 1.8 0.8 1.5 11.5 150 300 9.42 2500 2000
4 X 3.517/0.8 2.4 0.8 1.5 13.0 220 300 5. 30 2500 2000
4 X 5.5 |7/1.0 3.0 1.0 1.5 15.5 340 300 3. 40 2500 2000
5 X 1.25|7,0.45( 1.35 0.8 1.5 11.0 130 300 16. 8 2500 2000
5 X 2 7,/0.6 1.8 0.8 1.5 12.5 180 300 9.42 2500 2000
5 X 3.517/0.8 2.4 0.8 1.5 14.0 280 300 5. 30 2500 2000
6 X 1.25|7,0.45( 1.35 0.8 1.5 12.0 150 300 16. 8 2500 2000
6 X 2 7,/0.6 1.8 0.8 1.5 13.5 210 300 9.42 2500 2000
6 X 3.517,/0.8 2.4 0.8 1.5 15.5 330 300 5. 30 2500 2000
7 X 1.25|7/0.45| 1.35 0.8 1.5 12.0 170 300 16. 8 2500 2000
7T X 2 7,/0.6 1.8 0.8 1.5 13.5 230 300 9.42 2500 2000
7 X 3.517/0.8 2.4 0.8 1.5 15.5 370 300 5. 30 2500 2000
8 X 1.25|7,0.45| 1.35 0.8 1.5 13.0 210 300 16. 8 2500 2000
8 X 2 7,/0.6 1.8 0.8 1.5 14.5 280 300 9.42 2500 2000
8 X 3.5 [7/0.8 2.4 0.8 1.5 16.5 420 300 5. 30 2500 2000
10 X 1.25[7,0.45| 1.35 0.8 1.5 15.0 250 300 16. 8 2500 2000
10 X 2 7,/0.6 1.8 0.8 1.5 17.0 350 300 9.42 2500 2000
10 X 3.5 [7,0.8 2.4 0.8 1.5 19.5 500 300 5. 30 2500 2000
12 X 1.25[7,0.45| 1.35 0.8 1.5 15.5 290 300 16. 8 2500 2000
12 X 2 7,/0.6 1.8 0.8 1.5 17.5 400 300 9.42 2500 2000




ff % YZ7KREM CEE/F
g (IS Z % A S

Hr ticd 4 4 #a v (an HE 1% g #a E

(ZN o = 0 s (N 3 Bk
L X W (LS A U " ES " K H

A = JZ 20 = R 70 7 ES
% z % 7 S S £

%) (20°C)
m® | A</ mm mm mm mm mm | kg, km m Q,km | MQkm \Y%

12 X 3.5 [7,0.8 2.4 0.8 1.5 20 600 300 5.30 2500 2000
15 X 1.25(7,70.45| 1.35 0.8 1.5 16.5 330 300 16.8 2500 2000
15 X 2 7,/0.6 1.8 0.8 1.5 19.0 490 300 9.42 2500 2000
15 X 3.5 [7,0.8 2.4 0.8 1.5 22 750 300 5. 30 2500 2000
20 X 1.25|7,0.45| 1.35 0.8 1.5 18.5 410 300 16. 8 2500 2000
20 X 2 7,/0.6 1.8 0.8 1.5 21 600 300 9.42 2500 2000
20 X 3.5 17,/0.8 2.4 0.8 1.6 24 950 300 5. 30 2500 2000
30 X 1.25|7,0.45| 1.35 0.8 1.6 23 600 300 16. 8 2500 2000
30 X 2 7,/0.6 1.8 0.8 1.7 26 850 300 9.42 2500 2000
30 X 3.5 17,/0.8 2.4 0.8 1.8 30 1400 300 5. 30 2500 2000






